55@%?‘ 22H 9:00~ 1evh=yF
I 1 2 3 4 [[={iva
AR f#ER EIRELTC
1
=# E{= EIBELTC 63 60 60 1
BR R JL ARG
2
8 WE  JLRG 36 36 | 63 3
WA #® {EIRELTC
3
FH RE TFHH5T 06 63 44 2
T —x INyHh— 44
4
ERITGE:] INYH— 06 36 Ret 4
45§ﬁ?‘ 158 11:30~ 1vheyF 1.207 Ahik
A 1 2 3 4 [
BIE B JL ARG
1 =H &F JLRG 62 64 61 1
E8 £ oTC
2 »_%” x oro 26 46 62 3
R EpE TS LAvE
3
E# WF TS LAYE 46 64 60 2
2 BEHE TARSY
4
E% HEF < upwy | 0 | 26| 06 4
B 5 6 7 I
F0 HF {EIRELTC
5
&l B+ {EIBELTC 60 60 1
#®/K EF oTC
6 ;;%: oro 06 76(7) 2
hH FMF TLURYY
7
Bl 7 TAVRYY 06 67(7) 3
C 8 9 10 11 [
FRE AEF TS5LAvk
8
WnE R¥F TS LAV 76(5) 16 62 2
BE = oTC
? =F ;i% 0TC 67(5) 16 46 4
BN FRE TS
ke 2mT  awTs 61 61 62 1
EE FE ¥NTC
"o =2 ou— 26 | 64 | 26 3
, 158 1. 2R1tvk
Al FRIE BRHE JLRG
R=H X JLAG R « FE
2 FRE AEF I5LAHvE 63
WE &F TS5 LAYk
Bl Fi #H¥ {EIBELTC JiES « S
EE BEF {EIBELTC {5 84
A2 FEK E=WE  FSLAvE 64
B WF TS LAY S 15
1 EWR FRE TS 60
AF EEF IIETS ki Ak
B2 #K EF oTC 61

F AR oTC




